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==> The two solutions are actually identical.«<

==> check the two fit solutions further: do they agree with the expected
mathematical relations of the ambiguous solution?l

Or are they just one solution?<

==> Perform some IO test to check the fitting bias«
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TRandom *r = TRandom;

TString outpath =

)

TFile f( outpath+

int j = 0;
int NSIGO[ 1;
int NBKG|[ 1;
(j<nums){
int nSIGO® = round(r->Poisson(NSIG _tmp));
int nBKG = round(r->Poisson(NBKG_tmp));
((nSIGO>0)&&(nBKG>8)){
NSIGO[j] = nSIGO;
NBKG[j] = nBKG;
cout<« <<j <« <<NSIGO[j]<<endl;
cout<« <<j <K <<NBKG[j]<<endl;
toydatas[j] = 'Func_sige.gener'ate(-, NSIGO[j], Name(

toydatab[j] = func_bkg.gener‘ate(-, NBKG[j], Name(
toydatas[j]->append( *toydatab[j]);
toydatas[j]->Write();

J++;

+times

+times[j]));
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log2309.0ut of TOY@@1 Warning!!!
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Figure 50: Pull distribution of the sampled resonance parameters.
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